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Find the indicated for each of the following figures.

1 5cm/ LSA = P ’ l’\ Lateral Area = 330 0!/\/1;7~
i 10 ¢m =(G+5+0LT0L) 10 ney s
| = M
: = ( 9\;\‘0 Total Area =
G/ [LL17
/7’6 / = A0 cm?2 3
z Volume = 200 e
6 cm TeA = LSAY 72-FBase.
= 220+ 2(5°L) Parallel Cross Section: Rﬁ&‘fmt’\ﬁ‘,}[@
= 2301 0
= A¢D cm?*
V= Apase h
= 201D
- 200 Lateral Area = '”ré’v’rr lv\g-
=gy Total Area = A3t 1T In?
= 7aar
Ton=LsA + 2 Ay, Volume = 22410 in?
= Fam+ 2(g1)
= 234 Parallel Cross Section:___Clrcle
V= Aegse h
AL
= 23'%r
3. 12 cm. Lea = F h Lateral Area = 2l e
“ltet+u) 12
A Base = Aluw Total Area = ("’Ll Lt lﬁ(\(é ) Cm?
22\
TeA=\1spn +2An,
a _ ° Volume = tog\fz cm®
6 cm. =21, Q,<02@>
—
Parallel Cross Section: ‘l7V la’\ﬁ//f/
Tl + lgVv3 J
V= A’Bﬁso h
= N3 12

= |0gV3



4. g Base LSA= F ‘b Lateral Area = e \)’\";L
( 6 J =g
100m-._ <l B 5
o TN\ = 4gTT Total Area = lele 1T In
TeA =1LsA +2-Pguse
= HgT+ ,‘Z(@TF) Volume = ?’QJWV lV\3
= bl Parallel Cross Section;___C\V ke
V= Apae h
=Am-%
=33
LSA=p-L
5. 10 cm. % Lateral Area = gD/ﬂ‘ (2% *
“1pTr-lo
a2
= epr Total Area = aog 1 Clmg
Tép= LsA+ 2. Flaa 3
_ A‘Ba,so Volume = 3 om
= O+ A wur)
Aogm Parallel Cross Section:__ Clvche
V= Pgase’ h
3
=T =5l
-2 3
2
6. [ 7 3 cm. Lateral Area = 20 o
LSA= \3 n
10 cm. (a2t \%) 1o Total Area = Tleg cm”
= (3b)\b
= 3o Volume = 540 o’
15¢cm. TeA = LSAY 2 “PBaso Parallel Cross Section: 1V lang le
=340 + a (4 112 ) Y
>
= Yy
Vf- A&aso' 1/\
= H%-\0
=540
7. Aright cylindrical tank is 8 ft in diameter and 20 ft tall. How many gallons of 7. ul %5‘ L

paint are needed to paint the tank if one gallon covers 200 sq ft?
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8. If a sphere has a surface area of 367cm? , find the volume of the sphere.
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11. The volume of a regular square pyramid is 1805 cm3. Its height is 15 cm.
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12.  The surface area of a right circular cone is 728n cm? and the diameter
is 26 cm. Find the slant height of the cone. %
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13. Lisa needs to store 8 boxes while she is moving. Each box is a cube
with edge length 3 feet. A storage facility charges $0.75 for every cubic
foot of storage per month. Find the amount of money Lisa will pay to store

her boxes for one month.
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14. Find the total surface area and volume of a regular hexagonal prism Surface Area =
with a base edge of 10 and a height of 15.
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15. What would happen to the volume of a cone if the height were doubled?
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16. What would happen to the volume of a prism of the length, width and height were tripled? Th eV D’f Ume would
be muttiplied by >

17.  Aright cylindrical water tank 18 ft in diameter contains water to a depth of 8 ft.
What volume of water must be added to raise the water level to 12 ft? 17.
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